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Acale, number line

model, equal parts,
intervals, up, down,

count, decumal, te
hundredths.




If you got the mega challenge correct, start working independently .on .thz

Spot the Pattern
Continue the sequences:

0.47,0.48, 0.49, :I' D} |
0.76, oaso%:l G} I4
0.13,0.12,0.11, D DJ |

12.Here is a part of a number line divided into 4 equal parts.
b c d

4 5

In which section (a, b, ¢ or d) does each of these numbers belong? Explain your
answers.

43 403 408 476 441 469

Small Difference Questions
Show the position 0.64 on each number line:
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REASONING AND PROBLEM SOLVING QUESTIONS. Please reason evers,
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Fill in the missing numbers.

7.5

44

4.6

2.5

3.75

reas.oni

model, equal parts, unil

y intervals, up, down, path

cound, decimal, tenths,
hundredths.




ports—Fluency —Please re:
Please count in multiples of 0.2
22__ 28 __ e 4.2
4.2 3.6 3

Please count in multiples of 0.25
.25 2 2.75

6.75 5 5.25

Please count in multiples. cf 0.5

565 __ _ 7 _________ 85 ___

05 e % . D
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. Fill in the missing parts, and write as many different equations as you can think of to
represent the bar model.

[ [ 1

3. 5 children have been growing sunfiowers. The bar chart shows how tall each chid's
‘sunfower has grown. How tall is each flower?’

2
Height of
sunfiower
nm‘l
A1 1
Tom

Jo Llucy Bil Amna

indtervals, up, down, pattern,
count, decimal, tenths,
hundredths.

Spot the Pattern
g F Confinue the sequences:
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ol % 12.Here is a part of a number line divided into 4 equal parts.
H 2 3 b e d
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Choose different start and end numbers. Position 0.472
on each number line:

V/hat s the reading on 68ch of these scales, in kiograms?
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common decimals, froctions,

Vocah hank:
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converkt, units ,oaf measure,

equivalent to, ratio tahle,
corresponds, parts.




' 5NPV-5 WALT Conwert hebween units of measure,
| J_J. gM’ % M. % LOoMmMUmon m !M &ﬂ #M LS.

— Tm 100cm 100p £1 1,000ml 1 litre

 im [(Jem (Jp | so0s2 3,700mi | Jjitres




SNPV-5 WALT Corwert hebween units of measure,
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If you got the mega challenge correct, start working independently on the
REASONING AND PROBLEM SOLVING QUESTIONS. Please reason every .question!

g —

/2’ Vocabh hank: \'\

hp per word when uwsed in reasoning!
corwerkt, units of measire,

commmon decimals, practions,

equiv.alent to, ratio table,

corresponds, parks.




' 5NPV-5 WALT Conwert hebween units of measure,
| J_J. gM’ % M. % LOoMmMUmon m !M &ﬂ #M LS.
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' 5NPV-5 WALT Conwert hebween units of measure,
| J_J. gM’ % M. % LOoMmMUmon m !M Qﬂ #M LS.

I krowthat— £1=100p

P
U.

I can waork| out £4 = -

Once I|know that 1kg 2 110009

Vocah bank:
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Corwert from and

ecimal-
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 5NPV-5 WALT Corwert hebween units of measure,
| u m e’ ASU WJ LCOMIMOn m !M‘ &ﬂ d&m LS.

to fraction .and d

n

Low m.ould
ApouL work -
out how _

melres .are

in 3/4 of §
a km? -

Teocher .note:

quantities |.of larger units, within f:
Distance in km Distance in km Distance in metres
expressed as a fraction expressed as a decimal
fraction
Tkm 0.2km 200m
Tkm 0.25km 250m
2km 0.5km 500m
2km 0.75m 750m
+km 0.1km 100m
all other multiples of
%km , for example, %km 0.7km 700m

o




' 5NPV-5 WALT Conwert hebween units of measure,
| J_J. gM’ % M. % LOoMmMUmon m !M Qﬂ #M LS.

Corwert 3. 7 0 d millilitres to litrks.

You | should
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to | think .about dividin
1,000 Land mowing
Lqits 3

Instelad AJOLL woild be .able to wus zs;imgl.e it
wmersion rates .and
use your understanding of place v.alu
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 5NPV-5 WALT Corwert hebween units of measure,
u m e’ ASU WJ LCOMIMOn m !M &ﬂ d&m LS.

— Language focus

Language focus

~ “1,000ml is 1 litre.”

“Imis 100cm.”

~ “So 3,000ml is 3 litres, and 3,700ml is 3.7 litres.”

13 3 =t n
So Zm Is 75cm.

~ Language focus

— “100pis £1.7 i

— “So 50p is £0.50, and 52p is £0.52." -

Vocab bhank:
2hp per word when wsed in re
convert, wnits of .mex
common decimals, fra

l equivalent to, ratio .

[
For pounds .and pence, .and metres .and centimetres, iyou
~ should be ahble to carry out conversions that correspond to|
— 100 parts, for example, 52p = £0.52, .and 43cem = 0.43m.
I

\_ corresponds, part




' 5NPV-5 WALT Conwert hebween units of measure,
| J_J. gM’ % M. % LOoMmMUmon m !M &ﬂ #M LS.

Tm 100cm 100p £1 1,000ml 1 litre | |
3
— i 75cm 52p £0.52 3,700ml | 3.7 litres |
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OSNPV-5 WALT Corwert hetween units of measure, -

£1

£0.52

1,000ml

1 litre L

3,700ml




 5NPV-5 WALT Corwert hebween units of measure,
u m e’ ASU WJ LCOMIMOn m !M Qﬂ d&m LS.
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6NPV-2 WALT Recognise the place xalue of each digit in

/s,tand,ax,d. ,cmd. non- /s,band,ax,d. ,o,ar,tctwmna

| | | | | | | | | r |

I; you got ,th.e ,mag,a. d\.a.LLe.rLge .c,o,r,rmt zs.ta.rl: Jw.odun.g ULd.e.pz.rLd.erLHJE} on .th.e.
REASONING AND PROBLEM SOLVING QUESTIONS. Please reason every .question!
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/s,tand,axd ,and. non- /s.band,ax,d. ,o,a,r,tctw,run.a




6NPV-2 WALT Recognise the place value of each digit in
_ [ to 10 million. includi eiimal fracs -
- compose and decompose numbers up to 10 million using -
standard .and non-standard partitioning.
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REASONING AND PROBLEM SOLVING QUESTIONS. Please reason ewers










